RB TUBE CUTTER

Date of issue: August 2007

Model 42

Model 57

Model 30mini (NEW) Model 22 (NEW)

Contents
. RB Tube Cutter 22
. RB Tube Cutter 30miniS/30miniP
. RB Tube Cutter 30/30S/30PE
. RB Tube Cutter 42/42S/42PE
. RB Grooving Tool 42M
. RB Tube Cutter 67/67S/67PE
. RB Grooving Tool 67M

N O ok WN

REX



RB cutter 22

2017/5/29

(

= ———A

o
=
E p—
O &
m m
o ©
.o 2
p—
X OE
3| S
£ 8
p—
o
< €
c| @
2l g
=<
2 Al AN
(@4
— —~~
<
2 X
= g
b 1%
(5] N
S N
a P
L s = 5 5)
=) (o)} X
AMn ~ e © o
P N IR
o
N o
T
> 8
c
a | |85
— | — p
3 8 S
€|lc f= Sls
22 Ol O &2
|- | o)== D
3| 32 =3l
S e E =& =C
oO| 3| > Ol Ll Ol o
MO0 WXxmxom
S uF | mloist w/~|o
S |0 Q0|0 0 o o w0
g oS nnonnn
O ||\ X xx oo
O <
m. AN || < |0 ©|~]|




RB cutter 30mini S

RB cutter 30mini P 2016/11/17

No. Code no. PARTS NAME Q'ty REFERENCE

1 RB91 Body 1

2 RB92 Arm 1

3 RBO03 Roller pin 2

4 RBO04 Roller collar 4

5 RB94 Carriage thread 1

6 RB27 Cutter wheel pin 1

7 424242 Cutter wheel for copper, coated tube pipe (JP pkg) 1 Assembled with No.10 Bearing
424240 Cutter wheel for stainless (Japanese pkg) 1 Assembled with No.10 Bearing

8 RB93 Grip 1

9 RB95 Arm nut 1

10 RB12 Bearing 69577 (5x13x4) 8

11 RB98 Thrust bearing (6x12x4.5) 1

12 WY04 Ering (4mm) 1

13 WYO05 Ering (5mm) 1

14 WL32 Socket head cap screw Cutter wheel pin (M3x5) 1




RB cutter 30
RB cutter 30S
RB cutter 30PE

2016/11/17

No. | Code no. PARTS NAME Q'ty REFERENCE
; Egg; 2235 B Body A & B set 1set
3 RB23 Roller pin 2
4 = RB24 Roller collar 4
5 RB25 |Ring 1
6 RB26 Cutter wheel holder 1
7 RB27 | Cutter wheel pin 1
8 RB28 Grip 1
9 RB29 Carriage thread 1
10 RB30 Grip rubber 1
11 | RB31 Side protector 2
12 | RB32 Lower protector 2
13 | RB33 |Washer 2
14 RB34 Slide stop ring 1
424232 |Cutter wheel for copper (Japanese pkg) 1 Assembled with No.16 Bearing
15 424233 |Cutter wheel for stainless (Japanese pkg) 1 Assembled with No.16 Bearing
424284 | Cutter wheel for stainless (English pkg) 1 Assembled with No.16 Bearing
424237 |Cutter wheel for lined copper pipe (JP pkg) 1 Assembled with No.16 Bearing
16 RB37 Bearing 625727 (5%x16x5) 2
17  RB39 Bearing 696ZZ (6x15x5) 6
18 | W552 Truss screw (M5x8) 1
19 WO044 Socket head cap screw (M4x15) 2
20  WY04 Ering (M4) 1




RB cutter 42
RB cutter42S

RB cutter 42PE 2016/11/17
No. Code no. PARTS NAME Q'ty REFERENCE
1 | RB41 BodyA
2 RB42 BodyB Body A & B set 1set
3  RB23 Roller pin 2
4 | RB24 Roller collar 4
5 RB25 |Ring 1
6 @ RB43 |Cutter wheel holder 1
7 | RB27 Cutter wheel pin 1
8 RB28 |Grip 1
9 RB44 Carriage thread 1
10| RB30 Grip rubber 1
11| RB31 Side protector 2
12| RB32 |Lower protector 2
13| RB33 Washer 2
14| RB34 Slide stop ring 1
424232 Cutter wheel for copper (japanese pkg) 1 | Assembled with No.16 Bearing
15 424233 Cutter wheel for stainless (Japanese pkg) 1 | Assembled with No.16 Bearing
424284 Cutter wheel for stainless (English pkg) 1 | Assembled with No.16 Bearing
424237 Cutter wheel for lined copper pipe (Japanese pkg) 1 | Assembled with No.16 Bearing
16 | RB37 Bearing 62577 (5%x16x5) 2
17| RB39 Bearing 696ZZ (6x15x5) 6
18 | W552 Truss screw (M5x8) 1
19| WO044 Socket head cap screw (M4x15) 2
20 WYO04 Ering (M4) 1




RB grooving tool 42M

2016/11/17

No.  Code no. PARTS NAME Q'ty REFERENCE
1 RB41 Body A

2 RB42 Body B Body A & B set 1 set
3 RB23 Roller pin 2

4 RB24 |Roller collar 4

5 RB25 Ring 1

6 RB43 Cutter wheel holder 1

7 RB27 Cutter wheel pin 1

8 RB28 |Grip 1

9 RB44 Carriage thread 1
10 RB30 Grip rubber 1
11 | RB31 |Side protector 2
12 | RB32 Lower protector 2
13 | RB33 Washer 2
14 | RB34 |Side stop ring 1
15 | 424238 Grooving roller (Japanese pkg) 1  Assembled with no.16 Bearing
16 | RB37 |Bearing 625727 (5%16x5) 2
17 | RB39 Bearing 69627 (6x15x%5) 6
18 | W552 Truss screw (M5x8) 1
19 | WO044 |Socket head cap screw (M4x15) 2
20  WYO04 Ering (4mm) 1




RB cutter67
RB cutter67S

RB cutter 67PE 2016/11/17
®
1 4 O
No. | Code no. PARTS NAME Q'ty REFERENCE
1 RB61 Body 1
2 | RB62 |Roller pin 4
3 | RB63 Roller collar 8
4 | RB65 |Cutter wheel holder 1
5 RB66 |Cutter wheel pin 1
6 | RB67 |Grip 1
7 | RB30 |Grip rubber 1
8 | RB31 |Side protector 2
9 RB32 |Lower protector 4
10  WY06 Ering (6mm) 1
424234 Cutter wheel for copper (Japanese pkg) 1 | Assembled with No.12 Bearing
11 424235 Cutter wheel for stainless (Japanese pkg) 1 | Assembled with No.12 Bearing
424286 |Cutter wheel for stainless (English pkg) 1 | Assembled with No.12 Bearing
424236 Cutter wheel for lined copper pipe (Japanese pkg) 1 | Assembled with No.12 Bearing
12 | RB74 Bearing 606ZZ (6x17x%6) 2
13 | RB37 Bearing 62577 (5x16x%5) 12
14 RB69 |Return spring 1
15 RB70 Lock spring 1
16 | RB68 Half nut 1
17 | RBO03 |Roller pin 1
18 = WL37 Spring pin (3x25) 2
19 | WYO05 Ering (5mm) 1
20 | RB75 |Spacer 1 |for PE




RB grooving tool 67M
2016/11/17

No. Code no. PARTS NAME Q'ty REFERENCE
1 RB61 Body 1
2 RB62 Roller pin 4
3 RB76 Outside roller 2
4 RB63 |Roller collar 4
5 RB65 |Cutter wheel holder 1
6 RB66 |Cutter wheel pin 1
7 RB67 |Grip 1
8 RB30 | Grip rubber 1
9 RB31 Side protector 2
10 RB32 |Lower protector 4
11 | WYO06 Ering (6mm) 1
12 | 424239 Grooving roller (Japanese pkg) 1 Assembled with no.13 Bearing
13 | RB74 |Bearing 60627 (6x17x6) 2
14 | RB37 |Bearing 625727 (5%16x5) 10
15 | RB69 |Cutter wheel pin 1
16 | RB70 Lock spring 1
17 | RB68 |Half nut 1
18 | RBO03 Roller pin 1
19 | WL37 |Spring pin (3%25) 2
20  WYO05 Ering (5mm) 1




REX

www.rexind.co.jp

REX INDUSTRIES CO.,LTD.

Overseas Sales Dept. (Head Office & Factory ):
1-9-3, Hishiyahigashi, Higashi Osaka 578-0948, Japan
Tel.: +81-(0)72-961 - 9820 Fax.:+81-(0)72-961 - 9878

URL http://www.rexind.co.jp ‘

®Specifications, colour, etc. may be changed without prior notification.
®For environmental considerations, this parts list has been printed using soy ink and recycled paper.

PLRBTC-E3

1705R 0000




	RBcutterPL-22-28-30-42-67R-non-price20161117
	NRB-back161117



